N = 0l & AF & F Al A

S Q1= AN
M QIAMH AHA E
Sl EOIZENHIA (e @
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
019 Z AL Dt 500,775 735,869 £235,094
= 11,210 11,210 0
= 18, 145 14,145 4,000
2 471,420 710,514 239,004
DIAME HHlA 7 141,874 353,230 ~211,356
= 11,210 11,210 0
2 130,664 342,020 A211,356
ZOILE MY A 141,874 353,230 A211,356
= 1,210 11,210 0
2 130,664 342,020 A211,356
zoS= o oYLy 39,534 42,080 A2,546
201 Yer2g| 24,464 25,580 A1,116
02 B2 1,824 2,940 A1,116
o AR THELE (2 - S9) 1,824 2,940 A1,116
- 012 DIRYYTR (M AEY)
23 1,324,000 1,324 2,340 A1,016
- HSM0IHS)| BYTRA(MARY)
24 500,000 500 600 A100
405 XtarE S| 15,070 16,500 A1,430
01 RMUSEHSH| 15,070 16,500 A1,430
o FUSEZ FAMWY ST (0
=) A3 15,070,000 15,070 16,500 A1,430
PR AHIA A 91,130 299,940 £208,810
201 Ygreg| 23,090 31,680 £8,590
01 At 2l 17,090 20,680 A3,590
o DA XY 222(5HE) ME(HAE)
A 4,410,000 4,410 6,000 A1,590
o QAOISK 2R2(XSE) M (HARZ)
33 2,000,000 2,000 4,000 A2,000
02 22| 6,000 11,000 5,000
o SEHUAX AFS2(0AE)
2% 5,000,000 5,000 10,000 25,000
401 Al&HIL 20| 24,780 250,000 £225,220
01 Al&H] 24,780 250,000 £225,220
o DIRA BANLAY (CAE)
A 24,780,000 24,780 160,000 £135,220
o QAN BAMHN 02 T L HIETA(
ol AR ) 23 0 0 60,000 60,000
o WREI| SX(HAE) 3 0 0 30,000 230,000
405 THAHE S 31,000 6,000 25,000
01 RMUSEH S| 31,000 6,000 25,000
o RolpiAeZI| Y 25,000,000 * 14} 25,000 0 25,000
SSATA L TR 210,817 239,997 £29, 180
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2A: DIAS A
. SSATHA L 222
@ NE Y EX2e =T |
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ =&
L= 18,145 14,145 4,000
= 192,672 225,852 A33,180
& 2 EXj2el 70,492 75,492 A5,000
= 14,145 14,145 0
= 56,347 61,347 A5,000
SSEX LHMEA 5,192 10,192 A5,000
101 o124 | 5,192 10,192 A5,000
10 JI2ZtHI22 XS 5,192 10,192 A5,000
o 32X 2H )
000 4,198 9,198 A5,000
S ate] 83,421 88,421 A5,000
SSAAD NI Al D 9,391 14,391 A5,000
101 Q14| 5,192 10,192 A5,000
10 JIZtM2Z2 XS24+ 5,192 10,192 A5,000
o 2SAHAID{D )
00 4,198 9,198 A5,000
ASHE2Y 40,272 59,452 A 19,180
== 4,000 0 4,000
= 36,272 59,452 A23,180
EY AHA==2 &, o 3,000 23,000 A 20,000
401 Al EHILE20HH] 0 20,000 A 20,000
01 Al&HI 0 20,000 A20,000
o sgA=S= ENU
0 0 20,000 A 20,000
A=013A22] 2,080 1,260 820
201 Bt249H| 2,080 1,260 820
01 AtR22|dl 2,080 1,260 820
o HAF/AAG = 4 1,800,000 1,800 980 820
SEUIE UMY 25,000 25,000 0
T 4,000 0 4,000
= 21,000 25,000 A4,000
402 SI2tX =0l A 25,000 25,000 0
= 4,000 0 4,000
= 21,000 25,000 A4,000
01 22 XEEX 25,000 25,000 0
o =EUHFHIAIE = a3 25,000,000 25,000 25,000 0
== 4,000 0 4,000
= 21,000 25,000 A4,000
MWSES(QIAS AL 5,442 0 5,442
SEEXE(IAS AL 5,442 0 5,442
NELZAIREE =254 &t 5,442 0 5,442
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A QLIRS AL
M HRES(UFSAY)
el EMXE (2 SAN)

SNBSS - MEAY - BES 04l &k 24
802 Btz JIEt 5,442 0
02 Al - SHIEXSEta3a 5,442 0
o M=AAMY 610,000 610 0
o Mol=sE2 4,832,000 4,832 0
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